Jamie has 80 beads in blue and green inaratio 5 : 3
They are then given additional beads.
They are given the same number of both colours and now have a ratio 13 : 9

How many beads were they given?

B:G Total
5:3 8 j x 10
50:30 80
Before After

B:G Diff B : G Diff
50:30 20 13:9 4
X 5
20

Jamie has blue to green beads in aratio 5 : 2

They exchange some blue beads for the same number of green beads.
The ratio of beads isnow 4 : 5

What is the smallest number of beads they could have started with?

How many beads did they exchange?

Before After
B:G Total B : G Total
< 5:2 7 4:5 9 D




Jamie has 90 beads in blue and green in the ratio 3 : 7
They gave away the same number of each bead.
Now they have beads in the ratio 1 : 7

How many beads do they have at the end?

B :G Total
3:7
90
Before After
B : G Diff B : G Diff
1:7 6

Jamie and Tyler have beads in a ratio of 4 : 5

Jamie gives some of their beads to Tyler.

The ratioisnow 3 : 7

Find the smallest number of beads they could have started with

and how many beads Jamie gives to Tyler.




The following ratios are equivalent
x—1l:x+1andx+3:x+7

Find x

Diff
x—1:x+1 2

) X 2
x+3:x+7 4

2(x—1)=x+3

The following ratios are equivalent

14 —x:4+xand 20 —3x: 1+ 3x
Find x

Total
14 —x:4+x 18

20— 3x:1+4+ 3x 21‘>




The following ratios are equivalent
14 +x:19+ xand 24 + 3x : 30 + 3x

Find x




Jamie has 80 beads in blue and green inaratio5 : 3
They are then given additional beads.
They are given the same number of both colours and now have a ratio 13 :

How many beads were they given?

B:G Total
5:3 8 X 10
50:30 80
Before After

B: G Diff B : G Diff
50:30 20 13:9 4
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Jamie has blue to green beads in aratio 5 : 2

They exchange some blue beads for the same number of green beads.

The ratio of beadsisnow 4 : 5

What is the smallest number of beads they could have started with?

How many beads did they exchange?

of Aol  Before After
B:G Total B:G Total
5:2 7 4:5 9
Y 3
“ usiig 63 %:35 63 )
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Jamie has 90 beads in blue and green in the ratio 3 : 7
They gave away the same number of each bead.
Now they have beads in the ratio 1 : 7

How many beads do they have at the end?

B G Total

2% es 00 ) X9

Before After
B: G Diff B:G Diff

23:63 236 1:7
é:42 36)
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Jamie and Tyler have beads in a ratio of 4 : 5

Jamie gives some of their beads to Tyler.

The ratioisnow 3 : 7

Find the smallest number of beads they could have started with

and how many beads Jamie gives to Tyler.

Before APres
8:9 T B:Gq T
4:5 9 3:2 Io

X 10 9
<-,,o;so a6 29:43 90 .) :
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The following ratios are equivalent
x—1l:x+1landx+3:x+7

Find x

Diff
x—1:x+1 2

) X 2
x+3:x+7 4

2xc—-1)=x+3
Qr- 2= 243
=5
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The following ratios are equivalent

14 —x:4+4+xand20—3x:1+ 3x
Find x

Total

14 —x:4+x 18
)x 2L =3
20—-3x:1+3x 21 12 o

% (4+4x) = 1+3x

2(h+x) = 6(143x)
2R +3x= 6 I8

a2 = Nl

r= 2
=




The following ratios are equivalent
14+ x:19+xand 24 + 3x : 30 + 3x

Find x

b
4+t 94+ x 5

)xi
T

2443 2 30+3,. 6

%(m +20) = Qb+ 3z

é(la-f-.x): S'CQA+39=)
84 +6x =120 tI1Sx

-3¢ =9=x

x=-4
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